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MAECO115-A1/ EO-104 : Statistics for Economics-I
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Time : Three Hours Ll Max. Marks : 80

Notes: 1. Attempt all questions.
2. All questions carry equal marks.
3. Use of simple nonprogrammable calculator is allowed.
4.  Use of mathematical table is allowed.
1. Define population census.

Explain the main characteristics of population census 2011.

OR
Explain various function C.S.0O.
2. a) Explain the meaning of central tendency.
Explain its uses and limitations.
OR

b)  Calculate mean, median, mode from following distribution.

Wages 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
No. of worker 3 7 20 30 15 10 7 5 2
3. Answer any two of the following.

a) Define skewness. Explain it's uses.

b) Explain the meaning of correlation & Regression? How they are measured?

OR
c) From the following group frequency distribution calculate it's Range and it's
coefficient.
Marks No. of Student
10-19 6
20-29 10
30-39 16
40-49 14
50-59 8
60-69 4
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d) Calculate coefficient of correlation between age of husband and age of wife.

Age of husband Age of wife
23 18
27 22
28 23
29 24
30 25
31 26
33 28
35 29
36 30
39 32

Solve any two of the followings.
a)  Write the main rules for calculation of probability.

b) Explain he following concept of theorem with suitable example.
Additional & multiplication theorem of probability.

c) Inabag there was 7 white 8 red 5 black balls. find out probability that one ball will
be white and one ball will be red and one ball will be black in a random draw of 3
balls.

d) What is the chance of leap year selected at random will contain of 53" Friday?

Answer the following questions.

a)  Write note on sampling & non-sampling errors.

b) Explain the advantage of mean & mode.

c) IfP.E.=0.025and N =100 find the value of r.

d) Ifis 8:5 against a person who is now 40 years old living till he is 70 and 4:3 against a

person now 60 years living till he is 80 find the probability that one at least of these
person will be alive 30 year.
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I - 1. Fd J AT
2. |4 FEHT T 0T 3778,
3. 1eT A1 YTHEA VT AATAT ST TR 3712,
4. TN T ATURTITRIT TR 3772,
1. BRI T 1. 2011 T AIHEe] STUNUHT AT W B
foar
T ik ue-ra fafaer e e &R
2. BT FIIAT 31 T BRI, T YN T HITET TC .
fdan

TN SBSaTed faaRUIaw HIed, el YATTHId T .

TR 1020 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
HoRTdl T 3 7 20 30 15 10 7 5 2
3. GTEeTdd! DIOTATE &9 Je=ia! 3 Terl.

37  fowma e | i 3uaT foreT.

§)  Te9eY g SfcmeETaT 31ef W ]I, i A1 Y et ST ?

oo

®) el IeeiedT TeKile [daRunae IR g faRaR oTeh ATeH Brevl.

o fommeatat s
10-19 6
20-29 10
30-39 16
40-49 14
50-59 8
60-69
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) F9UTd 99  SIGI I Aesas, eiae Yo TN HIGUT.

9T 9T FIP T
23 18
27 22
28 23
29 24
30 25
31 26
33 28
35 29
36 30
39 32
W] PIUTTE] &9 I 3k foraT.

3) T T aRuaTd S e fere.

q) el FHATAT HhedT A1 ETERVIT W BRI, “SRI51  PMHR’ IHT FHTeIT.
HHST AN I8 & O JHT

®) U URIdId 7 Uiey, 8 aTet 311fT 5 1o UG 3R, SR 49-~AeRfgR A g1 U T dHlea el
R 1 U U1, TP TATeT JH1T0T T 1] Tig AVATTAT HHTH TS 3T G

)  Ual fora aufd 53 YHaR Juar fesclt HHTedaT 31 o SNEH e,

@A Ferar 3R . (31f+ard)

3 T a R faye Sor forr,

q) HEI T YACH BIE T B,

®) SR U fayH = 0.025 31fOT N = 100 31 HEH TOTE TNEH Bl

8)  8:5 qAT U YHIOT 3RICICT G 37T 40 FETH 3R oY 70 TuT JANGER 3RIE 3ATMOT 4:3 AN
AT ATAT 60 AT 3T o 80 TETYIA FATGER IRICATT BHI BHI U Ade! 30 FuTudd

O'HIUQI{I\I U] BTG
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FEEC - 1. FH AT b 3R feIRae.
2. W T P 3ih T &,
3. IRA A WS TOThIH T JUTNT &R B ST &.
4. TIOT AROT BT IGANT TR P ST &

1. 31)  SHIOUMET & gRTST SHifTe | T 2011 B STRIOFT @ fIRam W S|
3rrat
§) iy aifaas dued (CSO) & fafaer s we Hifste|
2. 3) Bied Ui b IRHTHT G 3R 39! IudniiT &1 ve Hafansi &1 faaae fefme.
3rrar

q) A aHeN 9 ey, Aead 3R I f UM fhiote.

HaTG 1020 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
HoTqR! @ T | 3 7 20 30 15 10 7 5 2
3. 1 & 3 DI QY gl & IR e,

3 fouwHar o aRemer feste qen 3% 3uan fofae.

§)  Tedae qn gfauwrEs o afRkamr f5Rr? 356 A S far siar a?

) A o TSl & e kb favaR a2 fawiR oTes Haiere.

o foemediiaast <=
10-19 6
20-29 10
30-39 16
40-49 14
50-59 8
60-69 4
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) U &1 3T Uil & 3T ¥ AEHaY AT FEHae TOTd A0 fohoiTe 3R 371 3701 o) Taee
fopate.

el @l 31 Tl Bl 3T
23 18
27 22
28 23
29 24
30 25
31 26
33 28
35 29
36 30
39 32
71 9 3 i3 &1 1 & 3R feaie.

3) U B TUHT & I oW Farsd |

q) = o ot Hebeu 3frd 3aTERUT B FETIAT I TE DHIST FHIHAD AN THY T O

®) Ud I 7 A, 8 AT 1T 5 BIC G & | 3R dawaeet & 3 e ud e e S gl ar
39 Uh e, Uh Tt Ud U PIAAT 31 3T B! THTATHT Bherd HIfoTe |

g) afd @I el ay (Leap year) da Ffcrara gIRT AT ST & Y 3%9b 53 YHaR & df FaT FHTGHT
g

frferiad geet & 3R feste.

3 Free gen R-Freei floyw w fegoot faRae|

q) DU YATTH b oTH W fdpaile.

®) Iu faym =0.025, N = 100 Fe=ide oTes M0 e,

) 8:5 I MY BT U 3MCH 40 1T BT & 3R AT 70 T1eA BT TAGER & 3IR 4:3 Y 317 JTeT T 3MEH

60 TCT BT & aT 3TTeHT 80 T BT BAD TAIGEE PT Ueb MEHT 30 FTeT B! f7ad T& Bl Feresrar
&1 U fHpatie?
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